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Question Number : 1 Question Id : 3354727631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who established the original Archaeolo%al Museurn, Sanchi on the hilltop of Sanchi? | T TRt & 0gE! &
Al I g "Xdcd Quglerd, dil &

Options :

1. ® Charles Correa | =ed @ T
2. ¥ Sir John Marshall | &€ 1 ATdar
. ® Marshall Durand | A1dd gte

4

=
4. % 5ir Thomas Roe | 9¢ STHT T

Question Number : 2 Question Id : 3354727632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Saha Institute of Nuclear Physics? | @T5T ATTH@ T Aid T G #5157

Options :

1. ® Mumbai | gag

2. ¥ Kolkata | Fid@@r

3. ¥ Chennai | =92

4. ¥ New Delhi | 72 T&welt

Question Number : 3 Question Id : 3354727633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The mdel%::_cl; %nk used in General Elections is manufactured in: | W G § SETHTA 514 ATell SITHT TATRT &7
fmfor gt

Options :

1. ¥ Varanasi | gromEt
® Gwalior | TemUTisraT
¥ Mysore | BET

® Madurai | W

%]

(WA

e

Question Number : 4 Question Id : 3354727634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year did the Cormrmunist Party of India come into existence? | g o # AR 1 @FIaTe] Te1 afieded H &TE?

Options :

1. ¥ 1923
2. ¢ 1925
® 1928
4. % 1930

_[_,l.J

Question Number : 5 Question Id : 3354727635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“World Red Cross Day’ is celebrated on ________ of every year. | Tobar (2 #14 fggw, vad® a9
HATAT 4T 21

Options :

1. ¥ 8thMay | 888
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2. ¥ gthMay | 9 /2
3. ¥ 7thMay | 7 72
4 % SthMay | SAs

Question Number : 6 Question Id : 3354727636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who was the chairman of the Constitution Drafting Cormrmittee? | Gichem= AHET A0 & T8 B 47

Options :

1. ® Jawahar Lal Nehru | JaTET @1 "5€

2 ¢ Dr. BR. Ambedkar | ST. & T, seigay

3. #¥ Dr. Rajendra Prasad | ET. T 0EG

4. ® Sardar Vallabhai Patel | XK dead H1E Ued

Question Number : 7 Question Id : 3354727637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which personal law practice was struck down by India’s Supreme Court as unconstitutional and invalid? | &
TSIt eI WeIT AR T Fallg - BT ST S ST & €7 § QI & a1 717

Options :

1. ¥ Polygarmy | dgiaarg

2. ¥ Triple Talaq | &9 aaT®

3. ® Dowry | og

4. ¥ Marriage of minors | @ [9amg

Question Number : 8 Question Id : 3354727638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which one of the following states was the first to establish Panchayati Raj institutions? | Fg@Es # & #9a7
T FTAd T T ST B T e el W T3 917

Options :
1. ® West Bengal | Ui ame
2. ¥ Rajasthan | T=e™

3. ® Tamil Nadu | i8@91g
4. % Gujrat | T

Question Number : 9 Question Id : 3354727639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following was the first registered trade union of India? | AT # & F 9T P TgeT G Ed AR
e 77

Options :

1. ® Hind Mazdoor Sabha | g wege @r

2. ® Bharatiya Mazdoor Sangh | #Rd 19 #ogt €

3. ¥ Madras Labour Union | HgE de) i

4. % Indian National Trade Union Congress | ¥Rd 14 T8 A0 T H0

Question Number : 10 Question Id : 3354727640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
The Sikh Khalsa was created by ___________ | T T,

Options :

1. ® Guru Nanak | % A&

2. ¢ Guru Gobind Singh | Tz Tifdg g
3. ® Guru Teg Bahadur | 7% a5 agIg¢

4. %® Guru Hargobind | T g0iiag

Question Number : 11 Question Id : 3354727641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Who is Rajnish Kurmar? | TS FHRT ®19 37

Options :

1. ® Man Booker prize winning writer from India | 9RT & A ot [ERR [dAd] oa@®

2. % A famous theatre personality from Karnataka | @ice ol U Nithkg 2ot Jeadd

3. ¥ Secretary in the Ministry of Comrmunications, Govt. of India | YRT T@N, T AT H g

4. ¥ Chairperson of the State Bank of India | ¥ d& 3{TF 24T & sregay

Question Number : 12 Question Id : 3354727642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhich Indian woman scientist did Google recently honour on her 100th birthday? | TFg AR AR d=T-e @1
BIA 51 § 39k 100 & SAfe ot e TopT ar?

Options :

1. ¥ Janaki Ammal | ST ST

2. ¥ Kamala Sohonie | ®AAT GEHT

3. ¥ inandibai Joshee | STHGIeTS AT
4. ¥ Asima Chatterjee | SRIHT =@l

Question Number : 13 Question Id : 3354727643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state of India is the famous Sanchi Stupa located? | WRT & Td T I WTHg |z &7 &0 e &

Options :

1. ¥ Andhra Pradesh | =1 nca
2. ¥ Maharashtra | AgRTE

3. ¥ Madhya Pradesh | Fe
4. ® Jharkhand | FREsS

Question Number : 14 Question Id : 3354727644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The Sessa Orchid Sanctuary is located in

Options :

1. ¥ Arunachal Pradesh | ST50T=e Wea
2. ¥ Madhya Pradesh | me udar

3. ¥ Himachal Pradesh | A= near
4. % Uttar Pradesh | S9¢ W24
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Question Number : 15 Question Id : 3354727645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Chachai Fallsison _______ river. | TS FAAWATT
Options :

1. ® Tapti ; 9T

2. ® Betwa | sidar

3. #® Sindh | &

4. ¢ Bihad | 95

Question Number : 16 Question Id : 3354727646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In which one of the following places in Madhya Pradesh is the famous Virateshwar termple located? | 7= mea o
e & & 29 & g w e g aiey fércr H

Options :
1. ® Gotegaon | MR

2. % Anuppur | ST
3. ¥ Shahdol | A

4. % Jabalpur | SeeqT

Question Number : 17 Question Id : 3354727647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Chidikho Lake situated? EErar Siia @57 9E 87

Options :

1. ® Byawara | gl

2. % Sagar | @K

3. ® Kurawar | §a€

4. ¥ Narsinghgarh | TR&ETG

Question Number : 18 Question Id : 3354727648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
The Punasa Darrm is in

Options :

. ¥ Khandwa | @=ar

# Harda | gtar

# Hoshangabad | glaTaTg
. ¥ Mandsaur | ASET

(="

M

AW

Question Number : 19 Question Id : 3354727649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where is Devi Jageshwari Fair held? | 2T TR HAT @57 ST T S1aT 57

Options :
1. ¥ Bhander | €2t
2. ¢ Chanderi | Ziger
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3. ¥ Mandu | AE

e

4. ® Ghighara | TeemT

Question Number : 20 Question Id : 3354727650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0

In which district are the farmous Khajuraho ternples situated? | Uiég @oRm! Aiay e e § e 87
Options :

1. ® Panna | UgT

r

® Sagar | 9T

L

. ¥ Chhatarpur | Fae
# Damoh | gAlg

-

General Maths and General Aptitude

Section Id : 335472244

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472244
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
o
x5 x56x==?
57 5

Options :
1. %5

o R >

® 004
4 ¥ 0.008

w

Question Number : 22 Question Id : 3354727652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
(7++5)—(7—+5)+3y5="

Options :
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5 N ]
55
3.¢
) 3\@
4 %

Question Number : 23 Question Id : 3354727653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If the side of a square is 2 times, then its area will be: | AT TF a1 BT YT 2 AT 8, TT IGHT ST 51T

Options :

1. ¥ 2times | 2 THT

. ¥ 4times | 4 AT

® 3 times | 8 AT

#® 16 times | 16 AT

[

94

-

Question Number : 24 Question Id : 3354727654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If 2x2-3x%+5 =4, thenthe value of x is: /TTE 2x2-3x+5 =4, T x T ZFHT-T'E,*:

Options :
1. %1

Wi
4 ® 14

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

L

Question Number : 25 Question Id : 3354727655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is $*47/ 5242841 £7

Options :
1. ¥ 200
2. ¥ 400
3. % 40
4. % 20

Question Number : 26 Question Id : 3354727656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Find the average. | & He@Tom
52, 60, 40, 29, 29

Options :
1. ¥ 40
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R

2 ® 41
V42
4 % 43

L

Question Number : 27 Question Id : 3354727657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the difference between a number and its reciprocal is 5, then what is the surn of the square of the number
and its reciprocal? | Iie U GET Ud I8 cgobd & Hed SiqC S 5, 91 ST & a1l Ud 6k ok d @1 AT T2 57

Question Number : 28 Question Id : 3354727658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If three nurmnbers are chosen from 2, 4, 6, 8, 10, 12, and 14 such that their surmnis 14, then what is the least
nurmper possible armong the three nurmbers chosen? | AfE 2, 4, 6, 8, 10, 12 & 14 ¥ §9 @& 56 Wb Zai=q &1
AT 7 T IAET AMEA 14 7, T IAi-d o 9 dearell § & F91dd Agaq Sed1 747 57

Options :
1. %8
2 ® g
. gk

_L.|_'|

o

Question Number : 29 Question Id : 3354727659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The remainder when 5x° — 15x% + 10%° + 2x? —6x + Oisdividedbyx-2is . /99 5x7 -

15%% + 1003 + 262 — 6x + O T x— 2 & Toenfoia o oram & o dwher grar &1

Options :
1. ¥9

- R

3¢5

4 % 3

Question Number : 30 Question Id : 3354727660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Two trains of length 500 m and 750 m are moving in the same direction. The speed of one train is 60 kmjh
and the other is 75 km/h. The time taken for the faster train to pass the slower train is___. | 500 Hiee 3T 750
HITE SvelTg 1 aF (e AT T # i Siier ) U St @ i 60 TRt e ST gEr @ Mid 75 TRt Her g1 95 e are
TETET ERT et Ve @ e e i Tt e dwe A

Options :

1. ¥ g0 sec | 60 §HTE

2. % 120sec | 120 O9UE
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3. ¥ 200 sec | 200 g@UE
4 ¥ 300 sec | 300 HUE

Question Number : 31 Question Id : 3354727661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0
In an election, Aman got 65% of votes and won by a margin of 3000 votes. The total nurmber of votes polled

IS____. | T AT W, S T 65% W WTH U Y 3000 Al @ S F Tt TN ST T B 7T Pl g
Options :

1. ® 100000

¥ 50000

. ¥ 10000

% 5000

P

L

-

Question Number : 32 Question Id : 3354727662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Three children ate 17 cookies altogether. Armala ate more cookies than any other child, What is the srmallest

possible number of cockies that Amala ate? | §9 THFATERY 17 ekt @1 T STHAT [T a2 afg] @i a1 o Sffera
Options :
1. %9

2 ¥ 3
BYF
4 ® g

Question Number : 33 Question Id : 3354727663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If 2 litres of water are evaporated on boiling 8 litres of sugar solution containin% 6% of sugar, then the

percentage of sugar in the remaining solution is: | TS 6% IHT AT 8 HieT =T & T JATA U 2 FHTT e FT
TS QTS <1 3 o1 R & b 1 T T o B

Options :
® 0.8%
® 5%

r

L

¥ 8%

i

Question Number : 34 Question Id : 3354727664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The sum of three consecutive odd numbers is 20 more than the first of these numbers. What is the middle
nurnber? | 319 wETTT Ty St w1 A, 5 SEanel & ugel § 20 siiew g1 7y §9a1 97 87

Options :

L %y

2 %8

3 % 12

v 9

e
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Question Number : 35 Question Id : 3354727665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Raj Kurmnar sold 2 calculators for Rs. 990 each. On one calculator he gained 10% and on the other he lost 10%.

Find his gain or loss in the transaction. | T4 5 990 T Ui W g0 | 2 FeAgoiet ol Uk Foageied O IH
10% #T WTH ToraT U ga¢ ot 39 10% %1 g1 g3l s%ﬁgqsﬁ@ﬁ AT AT g 1 AT e

Options :

1. ¥ No loss—no gain | T gTi=-41 @19
2. % 1% gain | 1% FTATT

3. ¥ 1% loss | 1% & g

4. ® 5% loss | 5% &g

Question Number : 36 Question Id : 3354727666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The sum of numbers 9999, 999, 99and 9is___. | GEaml 9999, 999, 99 W 9 FTAMEA _______ 2
Options :

1.v 11106

2 ® 37689
® 21069
® 20097

&

Question Number : 37 Question Id : 3354727667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In A4BC, the points M and Non the side 4B are such that 4N = 4C and BM=BC.Find ZACB if
£MCN=43°_ [ AABC H T ABW fdig MR NgHIPN & I AN=4C3HBM=BC| g
£MCN=43°% il ZACB AT |

Options :

940
1. ¢

Question Number : 38 Question Id : 3354727668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Ouestion Ontion : No Ontion Orientation : Vertical



11th Dec17 Shift 2

Correct: 1 Wrong: 0

The difference between the largest 4-digit number and the smallest 3-digit number is: | 4 ! & & 957 g
U 3-2{e! i Terd FleT T oF Hed a7 5

Options :
1. ¥ 9899

2 ® 3999
3. % 9989
4 ® 9889

Question Number : 39 Question Id : 3354727669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
1322 +182="

Options :

1. ¥ 17745
2 ® 17418
3. ¥ 17408
4. ¥ None of the above | 8 9 ®15 751

Question Number : 40 Question Id : 3354727670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If the CP of an itern is Rs. 500 while the 5P is Rs. 600, then find the profit %, | 97¢ U a&g &1 %4 §rg 500 704 ¢
Farter el ger 600 20 31 a1 AT % AT P17

Options :
1. % 16.66%

L

¥ 20%

¥ None of the above | gH & ®1g 51

-

General Hindi

Section Id : 335472245

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472245
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Qinala T ina Nuactian Nintian « Nla MNintian Niriantatian « Vartical
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Correct: 1 Wrong: 0
AR @ &R’ ___ . ATTET BT AT WS 1 T 81

Options :
1. ¥ 24
2. ¥ 18
3 ¥ 23
4 ® o5

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 42 Question Id : 3354727672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

e S AT 2 e H THed & 97 I 797 F5d 57
Options :

1. ¥ HgHER

ASERY

Question Number : 43 Question Id : 3354727673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T Ug! & @ § IRT O AT dEAET 5 -

Options :

1. ® srgae
2 « 9

Question Number : 44 Question Id : 3354727674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FaeT___ HE T FUT IBTAT 81 59 arerd # IR AU @t ey wunes § i

Options :
1. v a3

(U1

Question Number : 45 Question Id : 3354727675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
ie a7 AT'YT & AT AT'E T AT AT o el o
Options :

2y

w

4 ® 3
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Question Number : 46 Question Id : 3354727676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Teelr w1 vafaerEr g # & F9 | e

NN

Question Number : 47 Question Id : 3354727677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

ST g o ol U aeg FE A g B A g?
Options :

4. % ofiw

L

Question Number : 48 Question Id : 3354727678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

U w7 |t o Mg H S @ arg?
Options :

1. ¢ Ur+ad

2. ® gi+ad

#® Ofa+ad

L

4. ® gg+sm=

Question Number : 49 Question Id : 3354727679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

T F AN deg ME H e @ AT ey
Options :

vy

M

]

Question Number : 50 Question Id : 3354727680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

“srep U & 9T e g A A A
Options :

1. ® aref

[

w
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Question Number : 51 Question Id : 3354727681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

PUAT-TET e | 9 # & 19 A7 GHE 57

Options :

I -
3. ® fgyau

g
:
:

Question Number : 52 Question Id : 3354727682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

et T TR T ol g 4 e B
Options :

® 0 w1 A

L

o

Question Number : 53 Question Id : 3354727683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T g &0 75 § & #4787
Options :

> & i

L

Question Number : 54 Question Id : 3354727684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"I Tdw U TAT AT FCAT AT del TTT Fh
TI0TT U T ¢ T E—hTE HedT T el AT @ 1|

UG A T A G @ arTd a7
Options :

Question Number : 55 Question Id : 3354727685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
AIE-AT TH 524 51, T 91 = 51 o 7 |
H I &7 SEER 5 G5l dweud 7

Ontions :
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P

L

-

Question Number : 56 Question Id : 3354727686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

J0g A deg - ST
Options :

1. ¢ aga

4 ¥ g

Question Number : 57 Question Id : 3354727687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T & g ad AT ST Seg B a1 e
Options :

[

(4]

e

Question Number : 58 Question Id : 3354727688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TG & H Slell ST aelt T e & & @i |41 g -

Options :
2 % ii'{ﬂlé
4 ® FIAm

Question Number : 59 Question Id : 3354727689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST e T HRIASTE -
Options :

2 ® gefor- geoft

3. ¢ ST - ST

4 ® [UTH- WHETT

Question Number : 60 Question Id : 3354727690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘U-nue EE O O e auT @ ST 27
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Options :
2 ® FHuRy quE
3. v gz aAE
4 ® TIYEY HATT
Rural ECOI]OI'H}.F and PELHChElYElti Raj
Section Id : 335472246
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472246
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which is the Act that consolidated and amended the law relating to establishment of Panchayats in Madhya

Pradesh? | Wed WA § Ul | &1 SIT0AT & Galeld Fd Bl GHIed 3¢ GITET S0 T srfei-Tam 727 87

Options :

1. ¥ The Madhya Pradesh Panchayat Raj Evarm Gram Swaraj Adhiniyarm, 1993 | Hed USS U=mad T4 Ud 010
T STET-am, 1993

2. % The Madhya Pradesh Panchayat Raj Act, 1993 | Hed WS Uerod €W Ue, 1993
3. # The Madhya Pradesh Panchayat Raj Adhiniyarn, 1993 | Teg WSy baraad T aATaf=am, 1993
4. % The Madhya Pradesh Gram Swaraj Adhiniyam, 1993 | Ted TS UTH €& Sfei=am, 1993

Question Number : 62 Question Id : 3354727692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhat is the only condition to be satisfied for becorming Kisan Mitra ? | Torae 3 519 & 60 U@ 73 a9 #4787
Options :

1. #¥ Should be a big farmers | a=T o= g7 TR

2. ® Should be a hi-tech farmer | S99 T@- 1 aTAT TEH & T ATigUl

3. % Should be a small farmer | 12T TFa™ ST =R

4. ¥ Should be a farmer residing in MP | T, 7z w2 @1 THamT g7 aniem

Question Number : 63 Question Id : 3354727693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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__________ will be chaired by the chief minister and will COI'ﬂpI‘lSE ministers for agriculture, horticulture, animal

husbandry and daur;r SC-ST welfare, forestetc. | _________ I GEHAT T arergaT # T S o ga Eg‘fﬁ
TTETT, TSI ST 228, Taei-TaeT He<o, @ ST & HaT aTie ghm
Options :

1. ¥ Council of State Ministers for agriculture | F & Ty T=a A1 &1 qivwg,
2. ¥ Ministry of Agriculture | T A7

3. ¥ Agriculture Produce Marketing Council | F¥ JeuTg fTuue uivwg

4. ¥ Krishi Cabinet | F¥ Fa-e

Question Number : 64 Question Id : 3354727694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which among the following schemes was NOT merged with Swarna Javanthi Gram Swarozgar Yojana 7 | =g #

T ToFey 1T B Tt A T UTH Tt T ST o ST GHRERIRIEIEF
Options :
1. ¥ Integrated Rural Development Programme (IRDP) | Udhigd TTHI T T (3118 IS )

2. ¥ Deen Dayal Upadhyay Gram Jyoti Yojana (DDUG]Y) | S ST JUTedT TTH w411 T (S8 e vaTs)
3. ® Training of Rural Youth for Self Employment (TRYSEM) | TTHITT Jeek! T TSR 3¢ W& (EIRaSIas0H)

4, ¥ Development of Women and Children in Rural Areas (DWCRA) | TTHTTT &=1 # AfgaT i el @7 Hwme
(i .§rs.rr23_l:i|m

Question Number : 65 Question Id : 3354727695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the targeted date for achieving 100% village electrification under Deen Dayal Upadh%qy Gram Jyoti
%J%a?na? | S STR SUTEAT UTH 1T AT & Sidtia 100% TTHI0T Tehefd 9T T @53 UTH @0 o (ol @1 @1 fo 1o i &

Options :

1. #¥ January 2018 | S9a¢r 2018
2. ¥ May 2018 | € 2018

3. ¥ August 2019 | e 2019
4. % May 2020 | 72 2020

Question Number : 66 Question Id : 3354727696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Rainfall Insurance Scheme called 'Varsha Bima' was introduced by _________ .| It AT ATEE aut S ET T
_________ ERT & & 178 2

Options :

1. ® Life Insurance Corporation of India | W4 St AT fAmm

2. ® General Insurance Corporation of India | S S9ANH RRUNIT TE giaaT

3. ¢ Agricultural Insurance Company of India Ltd. | Uiiteeaie 4T Hu-T $TF SieaT fmiies

4. ® Indian Farmers Fertilizer Cooperative | & BTHE HieATSAT BITOeed

Question Number : 67 Question Id : 3354727697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Madhya Pradesh Padat Bhurmni Ka Krishikaran Adhinivam Act was enacted in: | 72T WS Tad fH &7 FiuE
srterfem | g ad | arferfaaiaa T mar ar

Options :
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¥ 1996
® 1987
® 1965
® 1946

SN

-

Question Number : 68 Question Id : 3354727698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

What is the name of rural malls chain established by ITC in Madhva Pradesh? | W2 0T H SMECIET o ZRT €ATUT
TTHIT Hie i &7 &7 A7 57

Options :

1. ¥ Chaupal Sagar | =T @I

M

# Bharat Sagar | YRd @M
# Madhya Sagar | W@ @R

w

LY

. ® vindhva Sagar | ffegame

Question Number : 69 Question Id : 3354727699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following districts of M P is the highest producer of cotton? | He s & e Fe # aiiere wume &1
FETE BT 87

Options :
1. ¥ Bhopal | {7

2. ¥ Jabalpur | S&eyt
3. ® Ujjain | 3904

=

4. ¥ Khargone | @O

Question Number : 70 Question Id : 3354727700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Farmers with bullocks get a subsidy of Rs. __________ for buying bullock cart in MP. | A7 near # & oot Tepamt
FraAmETWe T ___ %, T S HedT

Options :
1. ¥ 10000)-

¥ 5000/ -
4. % 2500)-

Question Number : 71 Question Id : 3354727701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Fire %uring is a method used in_________ processing. | W w3 U qeidT g = f&

Options :

1. ® Rubber | @2

2. % Pepper | @l et

3. ¢ Tobacco | TFmg

4. ® Cardarnom | geTeri
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Question Number : 72 Question Id : 3354727702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In which of the following states was Panchayati Raj first introduced in the present form? | Fgieias & & fg
T | U= T O e Ugel ad AT €00 § F17] T e

Options :

. % Haryana | gltmm

# Madhya Pradesh | Heg W3
. ¥ Rajasthan | T

¥ Karnataka | #iear

w P =

e

Question Number : 73 Question Id : 3354727703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who is the present chairman of NABARD 7 | FTd1S @1 ad AT ST hi- 57

Options :

1. ® Urjit Patel | IFa wed

2. ® Rajnish Kumar | =1 $AK

3. ¥ Ajay Tvagi | o= camit

4.+ Harsh Kumar Bhanwala | g9 FAN 9-aTam

Question Number : 74 Question Id : 3354727704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the distance of road constructed per day under Pradhan Mantri Gram Sadak Yojana for the year 2016-

177 | @ 2016-17 H Wer=H=1 UTH G2 F1=T o Sqiid Hidian (T TSl &1 gl et g7
Options :
1. ¥ 58 kms | 58 T

2. ® 73 kms | 73 Tl
3. ¥ 100 kms | 100 Tt
4. 130 kms | 130 Tt

Question Number : 75 Question Id : 3354727705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The total production of kharif food grains during 2016-17 was approx. ____ million tonnes. | 2016-17 & gk
T GET FT el FeUTEA, STTHIT R

Options :
1. ¥ 13852

. % 15824
% 16467
% None of the above [ JW® # T ®1E 751

2
3

e

Question Number : 76 Question Id : 3354727706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Under the Pradhan Mantri Awaas Yojana-Gramin (PMAY-G), the ratio of the cost of unit assistance to be
shared between the Central and State Governments is: | WeTHAT STaT F=-T-TTHIT (HoATae - & sidid, & i
T TR & s § AT Ty T ShTE AT @l ANTd @ S &

Options :
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1. ¥ 60:40 in plain areas and 90:10 for North Eastern and the Himalayan States | 8T 831 # 60:40 8T I
et ga et Tt @ oy 90:10
2. ® 70:30in plain areas and 80:20 for North Eastern and the Himalayan States [ #igHT 831 # 70:30 &R 3w
ydi ga gt vt @ oy 80:20
3. ¥ 50:50in plain areas and 70:30 for North Eastern and the Himalayan States | AgT 831 # 50:50 T 3¢

ydt ga et veat @ g 70:30

4. % 75:25 in Plain areas and 85:15 for North Eastern and the Himalayan States | 8! =1 # 75:25 & 39¢ g&f
e fewmerdt T4t & ey 85:15

Question Number : 77 Question Id : 3354727707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
When was the Jawahar Gram Samriddhi Yojna launched? | SaTge TTH H5g AT &1 T el T 72T 77

Options :

1. # 1985
2. ® 1993
3. v 2001
4. ¥ 2006

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 78 Question Id : 3354727708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Mission Fingerling” is connected with ____. { Thee R ___ o 1T AT gl

Options :

1. #® Animal husbandry | 05 UTa-

2. ¥ Horticulture | aWTET=T

3. ¢ Fisheries | W@l qla

4. ® None of the above | I H & FIE 51

Question Number : 79 Question Id : 3354727709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Bharatnet project 15 related to

Options :

1. ¢ Broadband connectivity to gram panchayats | TTH U=ad! &1 #ISdE Hideidel
2. ® High speed internet to farmers | Toram=T @1 3g Tid IT#T 3884

3. ¥ Broadband connectivity to Zilla Panchayats | a1 t=medt @1 fisds digeidel
4 % Free wifi to students in rural areas | TTaNT g1 § fenidat @1 Fgew agee

Question Number : 80 Question Id : 3354727710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which among the following is NOT armong the nine pillars of Digital India? | FafeiEd & & 7 i2Fee wia & =t
et E Tgl %7

Options :

1. ¥ IT for Education & Health | Tagm ot gamqe & foig smeer

2. ¥ Broadband Highways | #lsds g5d

3. ® E-Governance: Reforming Governrment through Technology | - WiiTieh! & ATedd & TR Pl Gei-T
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4. ® Universal Access to Mobile Connectivity | HiaTga @ deidel & o] Jiade Jaed

Cormputer Knowledge
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Sub-Section Id: 335472247
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
_________ is an Internet browser released by Google. | __________ TITel RIS 52T A3 3]

Options :

1. ¥ Firefox | BToRG 1
2. % Netscape | Jeqad
. ¥ Chrome | #19

® Safari | 9wl

L

-

Question Number : 82 Question Id : 3354727712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
FTF stands for . | FTP #TdTc04 & :

Options :

1. ® File transfer program | SIS ¢1a6L HH
2. ¥ File transfer protocol | BTEA TTEET AT @
# File transfer port | WIEd STEHL OE

. % File transfer pin | ®EA A6 U9

w

LY

Question Number : 83 Question Id : 3354727713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The box where we can type the URL in the browser is called ______________ | FTFFR  OF aled g1 gH JHARA T30
FCHF B, ______ Ehsam%
Options :

1. ® Status bar | Geed IR
2. ® Text bar | ¢Hqe a1

. ¥ Address bar | UZ29 &R
® Scroll bar | TR 9]

L

e
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Question Number : 84 Question Id : 3354727714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Ctrl+U in MS WORD will: | TAgE g2 § ‘Ctrl+U e #1df aear g

Options : CIEE

1. ¢ Underline the word or sentence highlighted | gT5aTse T T STeg; AT a4l P {11 aeaT &
2. ¥ Control you | ! ffag aaT g

3. ¥ Make the word or sentence bold | S&g AT ITF B AI6IE FAT 5

4. ¥ Reduce the font size | BE & SRR B TH BT 3

Question Number : 85 Question Id : 3354727715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In MS Word, a list at the start of the document containing chapter rnames or titles with the page numbers is

called _________ 1 | TG 92 H, STagHe & ARy § g gt eH et & A1 a7 dide, geE sl & 9 gl 6,

Options :

1. ® Index | 5259

2. ¥ Table of Contents | ¢ 3TH Hegd
3. ¥ References | ¥hias

4. ¥ Table of Figures | ¥&d 3T BT

Question Number : 86 Question Id : 3354727716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following is NOT a computer hardware? | FReTad § & &9 U@ Haed §Ieer 981 57
Options :

1. ®¥ Mouse | #1349

2. ® Monitor | ATHeT

3. ® Keyboard | #-a12

4 ¢ Antivirus | GEEEE

Question Number : 87 Question Id : 3354727717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following Page Orientation is used in MS Word while printing? | qAg® a2 # W & ge
AT § & fore U ST T JUANT T ST 87

Options :

1. ® Regular | Oe%

2. ® Standard | §¢s2
. ¢ Portrait | Wide
# Plain | qeid

8]

-

Question Number : 88 Question Id : 3354727718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does Ctrl + = key effect in MS Word 20077 | TATE 98 2007 & g “Ctrl + =" 7 F4T TTT 517 57

Options :

1. ® Superscript | IIEHTT
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[

. ¥ Subscript | SaEFEIC
® All Caps | 3T 399
4. ® shadow | fst

L

Question Number : 89 Question Id : 3354727719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
15 a secondary mermory device, |

Options :

1. % cpu j ®idiyg

2. ® ALU | QUATY,

3. ¥ Floppy disk | wadl i2HE
4. ¥ Mouse | HIE9

Question Number : 90 Question Id : 3354727720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The standard internet protocol is: | E22 st NElhd & :

Options :

1. ¥ TCP{IP
2. ¥ UDP
3. ¥ FTP

4, % Wiw

Question Number : 91 Question Id : 3354727721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
T_he Process of starting a1l o erating system whiern the user turns on a cormputer 1s known as: | Ud JUATTHT T el

FOET AT THAT 5, T SATHE T TEREH o A B i 1 HioharT Fpelld | & -
Options :

1. ¥ Staring | gETam

2. ¥ Loading | @l

3. ¥ Booting | gieT

4. ® Turn On | a4 T4

Question Number : 92 Question Id : 3354727722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following file contains readymade styles that can be used for a Word document? | FaeiEa # &
o GTEe § IS HE TS B1dT 5, o IR 92 STHgHe @ T famar <1 HeraT 87

Options :

1. ® Magic wands | #fi@ dgg
2. ® Letters | vied

. ¥ Templates | TYATH

® Presentation | HEae

L

Question Number : 93 Question Id : 3354727723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0



11th Dec17 Shift 2

CD-ROM stands for: | CD-ROM T J1e04 &

Options :

1. ¢ Compact Disk Read Only Memory | ®THIgC 1SHF (8 SAial HAT

2. #® Cormmercial Disk Read Only Memory | ®TATSaw 8@ O a1 qAT
# Cornpact Disk Read Only Machine | #q0%e 2@ 02 siiet 7t

. ® Compact Diskette Read Only Memory | ®THI%¢ iqde (s siiel HATT

L

M

Question Number : 94 Question Id : 3354727724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
The earliest calculating device is: | Ted TgeT TOHT B TTeT IEaET 2

Options :

1. ® Calculator | %og:oiet

2 ¢ Abacus | Tded

3. ¥ Difference engine | Zwéq 3o

4. ¥ Analytical engine | UATIAIC®H S99

Question Number : 95 Question Id : 3354727725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

'%ﬁi'hich of%gne following is invalid line spacing in MS Word 20077 | aiaiEs # & #1499t @g- quibT gaua-a2 2007
STHTT &+

Options :
1. ¥ Multiple | AfFema

2. ¥ single | e

3. ¢ Triple | eua
4. ® Double | Zgd

Question Number : 96 Question Id : 3354727726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Unwanted messages sent by emailarecalled ______________ .| EU ERT 9 T STETieT St @

Options :

1. ¥ Advertising | @M=
2. ¥ Spam | €0F

3. ¥ Promotions | WX

4 ® Newsletters | oAM=

Question Number : 97 Question Id : 3354727727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default extensions of Microsoft Word 2007 and Microsoft Excel 2007 files are and , respectively.

| AEFIETTE g2 2007 FUT AEEHaTe Ufdd 2007 B5ad & fahide Tgaead FHT _____ TFAT____ B

Options :

1. ¥ doc, xsl
2. ® doc, xml
3 v docw, xlsx
4 % docx, xml
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Question Number : 98 Question Id : 3354727728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
4 single spreadsheet that contains cells organized by rows and columns in M5 Excel iscalled ___________ A

Options :

1. ® Worknote | gl
¥ Worksheet | gddfte
® Table | tad

#® Page | O

r

w

v

Question Number : 99 Question Id : 3354727729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which shortcut key to be used to move to the previous worksheet in MS Excel? | TAUS Uwde H, g aodie §
T Tt o To] oy STE—ehe gt T JUIT T SAmT?

Options :

1. #® Alt + PgUp

. ¥ Ctrl + PgUp
# Alt + PgDn

® Ctrl + PgDn

W

v

Question Number : 100 Question Id : 3354727730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhich of the following print cornmands should be selected to view the whole docurment? | U STFgHE F1 S8 &
Toy Taferfa # & forey Tie @ie &7 T @t anig?

Options :

1. ¢ Print Preview | ﬁIEEﬁR{
® Print All { T affe

® Print 1-5 i 1-5

% Print Null | TiT a9

]

L

-



